restart
Py = Vector( [xl,yl])

X
Po =
Vi
P, = Vector( [xz, yz])
*2
P1 =
Y2
P, = Vector( [x3, y3])
X3
P2 =
Y3
Py = Vector( [x4, y4])
, . .
Pj, =
Y4

ParametricToCartesian == E— collect(expand(eliminate(convert( E, setofequations), t)), {x,y},
distributed)[2][1]=0

ParametricToCartesian := E
— collect(expand(eliminate( convert( E, setofequations), t)), {x, y}, distributed )21 =0

L == Vector([x, y]) = (1 —¢)-P,+ P,

x (1 —=1)x,+1x,

L=

y (1=0y, +ty,

ParametricToCartesian(L)
X (yl —y2) + (—x] —I—x2) y+x,y,—x,y,=0
Q = Vector([x,y]) = (1 —=)>Py+2(1 — 1) -t-P, + P,

. (1—0)2x,+2 (1 —1) tx,+ 1 x,

(1=02y,+2 (1 —t) ty,+ 7y,

ParametricToCartesian(Q)

<y12—4y1y2+2y1y3+4y22—4y2y3 +y32) ¥+ (—2x]y]+4x1y2—2x1y3+4x2y1
—8y2x2+4x2y3—2y1x3+4y2x3—2x3y3) xy+ (2x]y]y3—4x1y22+4x1y2y3
—2x1y32+4x2y]y2—8x2y1y3+4x2y2y3—2x3y]2+4x3y1y2+2x3y1y3—4x3y22)x
+ (xlz—4x1x2+2x1x3+4x22—4x2x3+x32)y2+ (—2x12y3+4x1x2y2+4x1x2y3
+2x,x;y, —8x1x3y2—|—2x1x3y3—4x22y1 —4x22y3—|—4x2x3y1+4x2x3y2—2x32y1)y

0y

(€))

(©))

C))

C))

6

@)

®

®



2 2 2 2 2 2
Tx Yy —AX XY,y =2, x5y vy HAX Xy, FAXT Y v —Ax, x5y v, x5y =0
C = Vector([x,y]) = (1 =) Py+3(1 —1)>-P, +3(1 —1)*-P, + P,

(1= x, 43 (1 =07 1x,+3 (1 =) x;+ 0 x,

X
C= - 3 2 2 3 (10)
y 1=y, +3 (1 =0)"ty,+3 (1 =) y; +t y,
ParametricToCartesian(C)
2 2 2 2
(—3x1y1 +18x,y,y, +6x,y,y,—27Tx,y, —18x;y,y,—3x,y, +9x,y,” =54 x,5,, (11)

—18x,y,y,+ 381 nyZ2 +54x2y2y4+9x2y42+3x4y12— 18x,y,y,—6x,5,y,
+27x4y22+ 18x4y2y4+3x4y42> xzy-l- (3 x12y1 —9x12y2—3x12y4— 18 x,x,y,
+54x,x,y, +18x,x,y,—6x,x,y, + 18x]x4y2+6x1x4y4+27x22y1 — 81 xzzy2
—27x22y4+ 18 x,x,y; =54 x,x,y, — 18x2x4y4+3x42y1 —9x42y2—3x42y4) xy2 + (
—6x12y]y4—9x12y2y4—27x12y3y4—21 x]2y42+45 xlxzyly‘,—54xlxzyz2

— 108 x;x,y,y; — 81 x]x2y2y4—54x1x2y32+54x1x2y3y4+63 x1x2y42 +9x,x;5,),
—54x1x3y22 — 108 x;x;y,y; =135 x,x;y,y, — 54 x1x3y32 — 108 x;x;y;y,— 63 x]x3y42
+6x1x4y12—45 x1x4y1y2—9x1x4y1y3+27x1x4y22—81 X;X,Y,Y; — 45X, x,9,),
—54x1x4y32—45 )c1)c4y3y4—6x1x4y42 +54x22y]y2+54x22y1y3—27x22y1y4

+ 162 x22y2y3 + 108 x22y2y4+ 162 x22)/32 +27 x22y3y4—54 x22y42 + 108 x,x; 5,5,

+ 108 x,x;y,y; + 8l x,x;y,y,— 162 x2x3y22 —27x,x;y,y,+ 162 x2x3y32
+216x,x;y;y,+ 81 x2x3y42 +9)c2x4y12 +81x,x,y,y, +135x,x,y,y; +45x,x,5, ¥,
— 108 x2x4y22 +27x,x,y,y; + 216 x2x4y32 +135x,x,y;y,+ 54 x32y1y2+54 x32y1y3
+54x32y1y4— 162 x32y22 — 162 x32y2y3 —216 x32y2y4—54 x32y3y4— 54 x3zy42
-|—27x3x4y12 —54x;x,y,y, 108 x;x, v, v; +45x3x,5, 5, —27x3x4y22 —216x;x, 5,3
— 135 x;x,y,y, + 54 x3x4y32 — 18 x3x4y42 +21 x42y]2 —63 x42y1y2 + 63 x42y]y3
+6x42y1y4+54x42y22 — 81 x42y2y3 +54x42y32 + 18x42y3y4) xy+ (y13 —9y]2y2

=33 v+ 2Ty 8y vy 3y =270 =270y, =9y, =) X

+ <3x1y12y4+9x1y1y2y4+27x1y1y3y4+21 x]y]y42—|-27x]y23 +81x1y22y3
+27x]y22y4+81 x]y2y32+81 x]y2y3y4—9x1y2y42+27x1y33 + 81 x1y32y4
-|—54)c1)/3)/42—|—3)c]y43 —27)62y12y4—27x2y]yz2 — 54X,y v, +27x,9, 5,5,

—27 )c2)/13232 —135x,5,5;, —54x2y]y42 — 81 x2y22y3 —54x2y22y4— 162 )62)/2)/32
—27x,y,y;y,+ 54 x2y2y42 — 81 x2y33 —216x2y32y4— 108 x2y3y42 —18 x3y12y4



—27x3y1y22—54x3y1y2y3+54x3y]y2y4—27x3y1y32—54x3y1y3y4+9x3y1y42
+81x3y23+ 162x3y22y3+27x3y22y4+81x3y2y32+216x3y2y3y4+27x3y2y42
+27x3y32y4—|-54x3y3y42+9x3y43—3x4y]3+18x4y12y2—9x4y12y3—21x4y12y4
—54x4y1y22+63x4y1y2y4—27x4y1y32—63x4y1y3y4—3x4y1y42+54x4y23

- 54x4y22y4 +81x,y,y;v,—27 x4y33 - 54x4y32y4 - 9x4y3y42) ¥ + (3 x]2y]y42

+ 18x12y2y42+27x12y3y42—3x12y43—27x]x2y]y42+54x1x2y22y4+ 108 x, x,y,v; ¥,
—54x1x2y2y42+54x]x2y32y4— 135 x1x2y3y42—9x1x3y]y42+54x1x3y22y4

+ 108x1x3y2y3y4+54x1x3y2y42+54x1x3y32y4+27x1x3y3y42— 18)61363)/43
_6x1x4y12y4_9x1x4y1y2y4_45 x1x4y1y3y4+6x1x4y1y42_54 ’Czr’QrJ’z3

— 162x1x4y22y3+54x1x4y22y4— 162)61)64)/2)/32—|-81x]x4y2y3,y4—54x1x4y33
—27x, x4y32y4 + 18 x, x4y3y42 —54 x22y1y2y4 —54 x22y1y3y4 + 381 x22y1y42

— 162 x22y2y3y4 —27 x22y2y42 — 162 x22y32y4 -|—216x22y3y42 — 108 x,x;v, 7,5,

— 108 x,x;y,y; v, + 81 x2x3y1y42 + 162 x2x3y22y4 —216)(2)c3y2y42 — 162 x2x3y32y4
+27x2x3y3y42+27x2x4y12y4+54x2x4y]y22+ 108 x,x,y,v,y; =108 x,x,y,¥,¥,
+54x2x4y1y32+54x2x4y1y3y4+ 162)c2x4y22y3—l—54)c2)c4)/22y4-|-324x2x4y2y32
—216x2x4y2y3y4+162x2x4y33—27x2x4y32y4—54x32y1y2y4—54x32y1y3y4

+ 27 x32y1y42 + 162 x32y22y4 + 162 x32y2y3y4 —27 x32y2y42 + 54 3632))3,)/42 —27 3632)/43
+9x3x4y12y4+54x3x4y1y22+ 108 x;x,y, v,y — 135x3x4y1y2y4+54x3x4y1y32

— 8l x;x,y,y;v,+ 18 x3x4y1y42 — 162 x3x4y23 — 324x3x4y22y3 +216x3x4y22y4

— 162x3x4y2y32+27x3x4y2y3y4—108x3x4y32y4+54x3x4y3y42+3x42y13
=9y vy 18y s =30y v A 2T vy 54y vy =185 v v,
—27 )c42y23 + 54)c42y3,3 —27 x42y32y4) x+ (—x13 + 9x12x2 +3 x12x4 —27 x1x22
—18x;x,x,—3 x]x42 +27 xz3 +27 x22x4 + 9x2x42 —|-x43) y3 + (3 x13y4 — 18 x12x2y4
—|—9x12x3y4—3x]2x4y1-|—27)c12)c4)/2-i-18x]2x4y3-i-21xlzx4y4—|—27)c1x22y2
+27x1x22y3+54x]x22y4+54x1x2x3y2+54x1x2x3y3—9x1x2x4y1—27x1x2x4y2
—54x,x,x,y; — 63 x]x2x4y4+27x1x32y2+27x1x32y3+27x]x32y4—27x1x3x4y]
+ 135, x;x,y, + 54 x,x;x,y; +63 x,x;x,y,— 21 x1x42y1+54x1x42y2—9x1x42y3
+ 3x1x42y4 —27 x23y1 — 81 x23y3 —54 x23y4 — 81 x22x3y1 + 81 x22x3y2 —162 x22x3y3

—27x22x4y1 +54x22x4y2 —27x22x4y3 +54x22x4y4 — 81 x2x32y1 + 162x2x32y2



—81x2x32y3—81 x2x3x4y]+27x2x3x4y2—216x2x3x4y3—81x2x3x4y4+9x2x42y1
—543623642)/2—279629642)/3—279633)/1-|-81)633y2-i-27x33'y4—81x32x4y]-i-216x32x4y2
—27x32x4y3—|—54x32x4y4—54x3x42y1+108x3x42y2—54x3x42y3—|—9x3x42y4—3x43y1
—9x43y3) yz-l- (—3 x13y42 +9x12x2y42— 18 x12x3y42+6x12x4y1y4—27x12x4y2y4
—9x]2x4y3y4—|-3)612x4y42—54)c])c22)/2y4—54)613622)/3)/4—273613622)/42

— 108 x;x,x;,y, — 108 x; x,x; 5, + 9 x, x,x, v, v, + 54 x]x2x4y22 + 108 x;x,x, 5,3
+ 108x1x2x4y2y4+54x1x2x4y32—|— 135 x]x2x4y3y4—54x]x32y2y4—54x1x32y3y4
—54x1x32y42+45x1x3x4y1y4+54x1x3x4y22+108x1x3x4y2y3—54x1x3x4y2y4
+54x1x3x4y32+81x1x3x4y3y4+18x1x3x4y42—3x1x42y]2+27x1x42y1y2
+9x1x42y1y3—6x1x42y1y4—81x1x42y22—81x1x42y2y3—27x1x42y32— 18x1x42y3y4
+ 54 x23y1y4 + 162 x23y3y4 +27 3623)/42 + 162 x22x3y1y4 — 162 x22x3y2y4
+324x22x3y3y4—54x22x4y1y2—54x22x4y1y3—54x22x4y1y4— 162x22x4y2y3
—54x22x4y2y4— 162x22x4y32—216x22x4y3y4+ 162x2x32y1y4—324x2x32y2y4

+ 162 x2x32y3y4 — 108 x,x;x,y, v, — 108 x,x;x,y,y; — 8l x,x;x,y, v, + 162 x2x3x4y22
+216x,x;x,y,y,— 162x2x3x4y32—27x2x3x4y3y4— 18x2)c42y]2—i—54x2x42y]y2
—54x2x42y1y3+27x2x42y22+216x2x42y2y3+27x2x42y32+54x33y1y4— 162 x33y2y4
— 54 x33y42 —54 x32x4y1y2 —54 x32x4y1y3 +27 x32x4y1y4 + 162 )cj,zx4y22

+ 162x32x4y2y3+27x32x4y2y4+ 108 x32x4y3y4+27x32x4y42—27x3x42y12

+ 135x3x42y]y2—27x3x42y1y3— 18x3x42y1y4—216x3x42y22—27x3x42y2y3

—54 x3x42y32 —54 x3x42y3y4 + 3x43y12 + 18 x43y]y3 +27 x43y32) y +x13y43 + 27 )c33y43
—x43y13 —27 x43y33 —27 )c23y]y42 — 81 x23y3y42 — 81 )c29c42y33 —27 )633)/])/42
—|—81x33y2y42—|-81x3x4zy23—9)643)/12)/3—27)643)/1)/32—i—9x]2x3y43—i—27x1x32y43

+ 27 x]x42y23 +27x, x42y33 —27 x3x42y1y3,2 + 162 x3x42y22y3 + 81 363,3642)/2)/32
+81x3x42y32y4—81x22x3y]y42+81x22x3y2y42— 162x22x3y3y42+ 162x22x4y32y4
—81x2x32y]y42+ 162x2x32y2y42—81x2x32y3y42—27x2x42y]y22—27x2x42y1y32
—81x2x42y22y3— 162x2x42y2y32—27x32x4y1y42— 162x32x4y22y4—81x32x4y3y42
+9x; x42y12y4 — 27 x; x42y1 y22 —3 x12 x4y]y42 -9 x12 x4y3y42 +27x, x22y2y42
+27x1x22y3y42+27x1x32y2y42+27x1x32y3y42+3x1x42y12y4+81x1x42y22y3

2 2 2 2
+81x,x, v, y; +27x,x, y5 v, — 108 x,x,x,y,v; 9, — 108 x, x;x, ¥, v,



+ 108 x,x;x,y,9,v, + 108 x,x;x, v, v; v, + 54x32x4y]y3y4 —162 x32x4y2y3y4
—54 x3x42y1y2y3 + 543 x42y1y3y4 —18x,x; x4y]y42 — 54X, x3x4y22y4
—54x1x3x4y32y4—54x1x3x4y3y42+ 18 x]x42y1y3y4+54x22x4y1y2y4

+ 54 x22x4y1y3y4 + 162 x22x4y2y3y4 — 162 x2x3x4y22y4 + 162 x2x3x4y32y4
—54x2x42y1y2y3+54 x32x4y1y2y4+54 x1x2x3y2y42+54 x]xe3y3y42

2 2
—54x1x2x4y2 y4—54x1x2x4y3 y4=O



